A

PATENT PRODUCT

Grille Installation Instruction

Rev. 20201101

Part# | F86005C&J&S | Application | For 1994-1998 Ford Mustang Logo Area Trimmed
Iltem Part Name QTY Description Iltem Part Name QTY Description
#1 | Billet Grille 1 |Stainless Steel #4  |Hex Bolts 2 | 1/4"-20x3/4"
Parts List
#2 | Tabs 1 #5 | Flat Washers 4 1/4"
#3 | Nuts 2 [1/4"-20 #6 |Lock Washers 2 1/4"
Install Notes: Overlay | > Replacement v Drill | x Cut | X
Step Description illustration
1 Identify the grille & hardware with parts list.
2 Open hood. Remove (4) black plastic screws attaching top cover. Remove plate.
3 Remove bracket and pony emblem using star wrench.
4 Place new grille into mounting position, aligning (2) holes in top of grille and securing with bolts provided in hardware kit.
Tighten securely.
5 Re-install top cover plate removed in Step 2. Attach pony or cobra emblem using quality double-sided tape (3M or
equivalent.)
6 On 1994-1995 models, attach bracket provided to existing factory latch.
On 1996-1998 models, bracket is not necessary.
7 Installation completed.

The instruction here is for your reference only. We strongly recommend the professional installer for best
result. We are not responsible for any damage caused by the installation. Thank you for choosing our
product!

Page 1 of 1




